{  Which of the following physiographic regions of | 4 The compound'interest on % 4 ,000 at 10% per
Rajasthan share’s’its boundary with. Madhya

_ annum for 1-12- years, interest compounded half
Pradesh?

| yearly is:’
g;z:: gt::e I:n::;ﬁ:pproprmrc answer from lhe . 24,0007 1‘2 T R 10% E!Tﬁ'EI-TE'{ fomfis
(A) Western desert plains region . H@f&lﬂﬁﬁ Wmm e
(B) Semi-arid region (A) - X 630.50 (B) T 600
(C) Aravali region | . p’ % 620.50 (D) 625
(D) South-eastern plateau region (E) Question not attempted / aagafra ua
(E) Question not attempted : AR
N i m ik ‘q’%‘-\’-ﬂ%\ﬁﬁﬁ & V’ The difference betweé:; the compound interest
ﬁtqﬁarf‘q@: ﬁﬁﬁﬁﬂmﬂﬁm@ | . and ‘lh? simple - interest fm ? certain su:T:l for 2
(A) TR T IR AT RAES : | | years at 10% per annum i1s ¥ 700. Find the
(B) Glﬁ—iﬁ a8 * compound intercst‘on the same sum at the same
(C) IaEal & | | rate for 1 ]2 years when interest is compounded
Oy  <Rorgdi ver & e 3 - half yearly.
ST XA & . FoURTR 2 3t T 10% TTiiE A TEIRE A
2 Tropic of CanéEi-""séE‘éés through which of the L mumm T 3= T 700 21 T THET 9T It
following regions of Rajasthan? B 1-—- Y T RAfE A T Eh:% 5T A
Choose the most appropriate answer from the ﬂﬁmﬁﬂi@ﬁﬂﬁm%l
options given b“"“’ L A) T11,033.75 (B) T 12,337.50
(A) Sirohi =" (B) Brilvara - ©) 1221125 (D) ¥ 11,885.40
(C) Jhalawar (D) Banswara _
(E) Question not attemptcd (E)  Question not attempted / 3T W3
=% T TereaT o Pt 7 @ é’rz'ﬂ Bl
oAl &2 6  Atwhatrate of compound interest per annum will
ﬁﬁﬁﬁwﬁfﬁﬁmmﬁﬁ a sum of T 5,000 become  5,724.50 after 2 years?
(A) Taud - (B)  iieETST - Tehafe ST i e anfes YR 5,000 FHrURT 2
(C) FEmS KBy wrearT a4 qHT X 5,724.50 B S
(E) SIaRa A | (A 6% B) 6.5%
3 Which of the following regions of Rajgsthan €) 7.5% ;GB) 7%
shares its boundary with Gujarat state? (E) Question not attempted / IO W

Choose the most appropriate answer from the

options given below:

arh (B) Pali 7 What number should be subtracted from each of
(A) Chjlto:ﬁ (D) Nagaur 15, 28, 20 and 38 so that the resulting numbers
o Uﬂz;l:wn not attempted are in proportion?
| g%ﬁ%aﬁmmaﬂﬂﬂ-mmmmm% HEATSHY 15, 28, 20 7T 38 H Wl i & w-Hf AT
o v AT I &7 ger§ ST R T weand w3 8
o 3 & o JIge IO 3
Frefafaa fasedl A (A) B) 6
) fadeg (B) e ©) 4 @ 2
(C) =t (D) (E) Question not attempted / 31w WA
() “Tm“w 2 | Contd-f-
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The Nagoya Protocol in ,access .ang benefit
sharing was adopted under pl?’ aggis of:

Choose the most appropriate ﬂn;swcr o the
options given below: o |
(A) The Zoological SurveyBf India

(B) The convention on Biﬂnﬁcal'biversily
(C) Preinvestment Surveyf. Fotest Resources

- (D) National Centre l51!‘3':"_3_ Biotcchnolugy

Information e it §
(E) Question not attemptec'Il -
JCTeUdT W W HTRHEHRL W T Wekwie
& Ifaia sifter f‘:ﬁél N
(A) vt EdETr o
B) = fafrvarafy

First ‘National Space Day’ (vas observed on 23
August 2024 becau_se: - |

Choose the most apprapnﬁﬂ answer from the
options given below: ;

~ (A)  India became the fourth, country to land on
the moon and the firstitoireach the Southern-

- Polar Region on 23"¢anpust 2023
(B) 23" August is the birthday of Father of

Indian Space Prograrfime .
(C) 23" August is the dat of foundation of
ISRO 8 ~
(D) Indian MARS MissiQ(E was launched on
. 23 August -
(E) Question not attempted?
WUH U Sfafer Raw 233y 2024 @ W
14T T -
fFrefafay ety I
A4) VT 19 T Site vt 3y e < 39
3T 23 mzozﬁﬁmﬁmgﬂéﬂﬁ“’éﬁ
CIGIR G| N
(B) 23 maﬁtmnwléﬂa‘ T oh el &l
ST

45128 V] 202238
AR B N N

10

11

12

- (C) Luni

The state animals of Rajasthan are:
Choose the most appropriate answer from the

options given below; () | | s L
: -
(A) Tigerand Cow 0 | ! / \w
B) Ti ¥
(B) 1ger and Came[;l \b 7 oo

(C) Chinkara and Camel -
- 2
(D) Camel and Blacl;.-ﬁanther iy 720 / %ﬁo

Which of the following fivers is associated with

- the Bay of Bengal dmit‘l?ge system?.

Choose the most, appropriate answer from the
options given below; - '

Choose the most ﬂpp{fﬁ"ﬂfe answer from the

Options given below:

(A) Subamarekha (B) Mabhi
@ Banas

(E)  Question not attgnipted

Tl 3 & Pi-H T T F e i 2
Fwiffiae forsedl § § RATE® 075 300 93,
UAY ool vt/ oo

(B) e -

(©)

(D) A

(E) " Srqufa w4 |

728 2 1T 38T e
EPTUERL B B

Scanne d with CamS

(E) Question not attemfipted 3>V Az Tm

TSI F T a8 () /5£ s

ﬁq%ﬁgaﬁmiﬁﬁmﬁba#ammgﬁ:

(A) rarsfrmy ;

®) Hmainse 2 00 IO W ¥

er mwﬁu’r%wr(ﬁa%sﬂtiz -3

(E) 3qui@mys (o N
- 57

(A) Jakham Chambal = < ”}2’5"‘\5:"
(C) Mahi ) Sabarmati  J5
(E) .Question not attempted to

Frefelaa § F-dt T @prer Fr et sEre dr
- Heiftra &2 3!

Frefefaa fawedt 4 @ Faifies svgwsmas: 175
(A) Smaw TqrI SNy
(C) =mh 'g St

(B) Smmi@yd o

| . N

Which one of the follo\ihg rivers does not flow

in Rajasthan? "

nnnnnn



vhich of the following National Highways pass | 15
\
(hrough Rajasthan?

choose the most appropriate answer from the at Macau, China in June, 20249 !
options given below: ¢ Choose the mosy appropriate answer from ¢
(A) National Highway no - 208 options given below: ‘

(B) National Highway no - 4 (A)  Gymnastics

(C) National Highway no - 10 (B)  Sambo
(D)  National Highway no - 11 (C)  Chess
(E) Question not altempted (D) Badmiﬂtoﬂ
ﬁﬁﬁ:{ﬁgﬁ TR q.ﬁq_m T Tt T (F":) Qu'estion not attémpted
HETRIC o - S | Eﬁmwmzﬁﬁﬁmw%ﬁnﬁr@aaﬁa
ﬁw%%aﬁaﬁﬁ%waﬁhmmwﬁ= &mﬁaﬁmﬂfﬁﬁﬁﬁ 2024 ¥ 9z S
(A) TSR EET. 208 3 ﬁ‘qﬁfﬁaﬁﬁmﬁﬁwaﬁmmmﬁ \
UBY ™ U et st 4 ' | Eg: m
©) T@ﬂﬂﬁmﬁ?@n 10 . ©) TS
o D) TE s e (D) Ashie 18
- (B) ufmwm )  smaferss
14 Identify the Rajaslﬁam player who TCpresented | 16  Sh. ‘Bhajan La] Sharma, CM of Rajasthm
India in Paris Olympics 2024 | - represented which constituency in theléd
Choose the most appropriate answer from the Assembly?
options given below: Choose the mosy appropriate answer from the
(A) Lalit Kumar Upadhyay  options given below: ~ —
(B) Maheshwari Chauhan (A) Sanganer .
(C) Neeraj Chopra | ~ (E)' Shahpura -
(D) Aishwarya Pratap Singh Tomar - (€)  Siwana
: | (D) Rajsamand
Pl st ae e ; . ' (E) Quéstion not attempted
98 Toreart faeret Ry A siifrn a3 T s ol e o
T &1 gfafafie famar: | % e framang & T Wity w@ 8
frefefas fasredi § & waifs Iugw s ﬁ%ﬁw&%mwmﬂﬁ’
HA) <feTd FER YA A "R |
(B) Ry
(C) Toamm
(D) USHw=
(E) 3wt wy DE
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19

X 1,800 T URT T A, B 7T C § 39 YR a1l 715

Which party has won. Banswara Parliamentary
constituency (Rajasthan),in the 2024 [ ok S
Election? sii? v

Choose the most appropi'fafé IHIISWCI‘ from the
options given below:

(A)
(B)
(C)

abha

Bahujan Samaj Party

Bhartiya Janta Party

Bharat Adivasi Party . .

(D) Indian National Congress

(E) Question not attempted | .

2024 & SrRET T F R 9 Y aigarer
(ST G988 9 Sid 9y 662

o fashedt # & waifire sugw s
(A) W& GHIS 9Tt

(B) WRA 94T UTef

ey ITfeaTdt g1t
(D) g IEa g
(E) i@ ux

A sum of ¥ 1,800 is divided among A, B, C so

that A gets % of C’s share and B gets % of A’s

share. The share of C is:

% AH CFwma 2 T B F A F ITH

SITH BI4T 1 C 3T sy 2

(A) 600 (B) ¥ 1,000

(C) %900 ~(D) T1,200

(E)  Question not attemipted / AT I

:he PIOCEss i which ghe superior. males of one
reed are mated with the superior females of

Cho
-ose tpe "MOst appropriate answer from "
Options given be] gy -

(A) lan'EEding
(C) Back Crossin
(E)  Questiop

PR R S —— S

(B) Out breeding
g (D) Cross breeding

20  How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the
options given below:
(A) Five
(B) One
(C) Two
(D) Three
(E)  Question not attempted
Teh 3¢ & AR T fohd ¥ 2 29
Fretfifian faamedt & & wratfires suzes sm 23
it B * & CUR =
Th .
AT .23
(D) p oz eIz L
(E) .ﬂﬁﬁﬂﬁﬁﬂ:_f}: c 23y
- 21n6. 8
21  Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic
of the following diseases?
Choose the most appropriate answer from the
options given below: 3{5‘5@- ~ 3’3\
(A) Black Quarter -
(B) Hemorrhagic septicemia |?tf 80 |
(C) Rabies o
(D) Anthrax
(E)  Question not attempted
Fefafaa & @ 60 U7 1 @ wReqt Sarfye
TTETOT R?
Wﬁﬁﬁﬁnﬁ@mmm;ﬁ |
(A) = TR '
L) oo v i S B
(©) :' A ;’ -
(D) waw 8' s i\‘_
(E)  oygaf@wd C\
| Contq,, S0y
A3 Yo Pk
Z >R S SR N
9 A i
— 2
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19

Which party has won. Banswara Parliamentary | 20

constituency (Rajasthan),in the 2024 ok Sabha
Election?

|||||

i ]

options given below:
(A) Bahujan Samaj Party" '

(B) Bhartiya Janta Party

(C) Bharat Adivasi Party . . .

(D) Indian National Congress

(E) Question not attempted J

2024 & wFENT g R 9 Y siwarer
((STEIT) G939 &7 1 Sfiq 7w i

Frefefas faered # & waffae sugw sooa
(A) &S 99 qret

(B) WRA SHaT et
ey uRa rfeard gt

D) I Easng

(E) Igaia@wx

A sum of ¥ 1,800 is divided among A, B, C so

that A gets % of C’s share and B gets -3- of A’s

share. The share of C is:

T 1,800 I URTST A, B 94T C | 39 YHR 1T T
AR CEHF YT % mBaﬁA%ﬂmw—f’i—

YTH BIaT 21 C 3T 91T &:

(A) T600 (B) 1,000

(C) T 900 AD) Z1,200

(E) Questionl not attempted / 343:?1'&?[ Jq

The process in which the superior males of one
breed are mated with the superior females of
another breed is called:

Choose the most appropriate answer from the
options given below:

Out breeding

21

How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the

options given below:

(A) Five

(B) One

(C) Two

(D) Three

(E) Question not attempted

Teh $2 o AT F foha yrr a1 22

Frtafad fashedt & @ waifas sagew o :

) :1: i L

;? LM y

(D) Tﬂ:l‘ A e +¥) R

L . S

(E) adﬁdgi . (,}.. (_._. 1 %Fl—j—-

L 2156, 28

Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic
of the following diseases?

Choose the most appropriate answer from the

options given below: v 3/\
(A) Black Quarter /35“

(B) Hemorrhagic septicemia I7tf8 & l
(C) Rabies e
(D) Anthrax

(E)  Question not attempted

(A) Inbreeding  (B) T wrrfew O ¥ THEE iR dwEd ey
(C) Backcrossing (D) Cross breeding Pretfias F & fa AT =5 -
(E) Question not attempted S . Haiaqhui EHIE o
o ufsFar S U 75 & 28 T T gadt T
Sy T @ THNTH ST ST &, e & Fresfafa et o wraffres swgem swe g,
frefafad faswedt § & watfas suge Iat g (A) =% ST
(A) HAISAA CBY)— i QT =1 R
(RISt (©) aftw - R
= mwﬁﬁ) D) @ TY:N > 3
bl US4 ) ,
/{;g)) A 94 ! (E)  sryafia war 8 29 ?\
DEF - B14]1 & (Conta,_ &2
= ) AR &
- i T E g i3 =9 ‘ﬁﬁl\*x
e S Pj
L - e ——— e
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22 Foot and mouth discase in cattle is caused due to
infection by <)
Choose the most appro{wre answer from lhe

options given below: 0\

(A) Fungi (BY) Bacteria
(C) Virus (D"‘ Protozoa
(E)  Question not attempled

;ﬂaﬁ%qmaﬂ-ﬁamﬁnmm L

FefoTed feeal § § gatfies sugw swa:

(A T® (B <framy (i)
ue)— fawmy @) (O™ s

B) gmiaws (g

' i

23  Grooming of calves is daﬂo

Choose the most approptr:f)ate answer from the

options given below:

(A) Keep them cle — :
p an O

(B) Get ﬁbre 0

(C) Avoid licking O\
(D) Decrease blood cirétlation

(E) Question not atteran

SSSI I THT T A B
, Tefafaa ﬁ*c@ﬁﬁﬁaﬁmmwaﬁ
(A) 33T Eo3 W & [
(B) m@ﬁ)mw%q
(C) Hﬁﬁﬁaﬂﬁ%%%}
AD) T IREET &l FHEHA o fow
(E) aRayd i

24  ‘Project Tiger’ was launcﬁed In:
Choose the most appropriate answer
options given below: t’ o’

(A) 1973 (Bn)) 1962

(C) 1968 (D)N 1970

(E)  Question not dllen{ﬁﬁfd

K= A LCIECIE (mmﬂmzﬁ’]ﬁaﬁ

ﬁ'ﬁrﬁ—rﬁﬂﬁldmﬂﬁﬂﬁwﬁawamm |
(A 1973H (B) 1962 % T

(C) 1968H (D) 19703

(E) Al 94

from the

- DEF - B14 | @

6

25  Which of the followi%is not a forest a4 Wil

resource? .. )
Choos¢ the .most. a&opriate answer fron
options given belowi (3
(A) Protected fore¥t
(B) Reserved foreg

(C) Unclassed forests
(D) Indigenous foréﬁts

(E)  Question not aftempted

Frafofaa & & #19-904 3R a=ria g
w o

ﬁw%%aﬁwﬁﬁmmmgﬁ
@ T 3

(B) IR I

FafiFdas O
/@Bf ﬁwmﬂﬁﬁﬁ)%
mﬂﬁﬁ‘m N
0

™ o

26  Animals whose nunthgrs are reducing to?

that they mi ght face Qinction are known &
Choose the most appropriate answer fro?
options given belows

(A) Endemic spec‘%

(B) Endangered spgéles

(C) Extinct specm.s\j,

(D) Susceptible sp‘“\ies

(E)  Question not attempted @QF |
0@ i oot e st s v €1
%ﬁ?ﬁﬂ?wm?ﬂm% el ¢ ¢ }
Freaffon e § fratfas 9920
(A) THF St

_AB) ﬁmaﬁzﬂ
(C) o wfeat 1
(D) HdZEfe sfaat |
(E) orgafa wu [ Cﬂn“’) 1
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27 Which of the following staternenté 1S not correct | 29

about laterite soil in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) It 1s formed by- the " crystalline and
metamorphic rocks. '

(B) This soil is found in Dungarpur.

(C) Itlooks red due to the presence of iron.

(D) It contains enough quantity of phosphorus.

(E) Question not attempted

frafaRad 3 w-a1 Sy aeum i Seuze gar F
TR H S T 22

F=faias faeweat # @ waifas sogw sata:
(A) IBFHEART CF W@IR TgHT & 1 8]

(B) I T TR H 9t STt Bl
P g 3y it ufeafd & FRoT I8 A1 T

AT B
(DY 5 W AT SR YT S R
(E) 3AIaia '

30

28  Arrange the following districts of Rajasthan in

descending order according to their literacy rate
(Census 2011):

a. Churu b. Kota

c.  Alwar d.  Sirohi |
e ¥ Frafefad forelt r arear &% (201197
SHIOET) o 92d e | Sgaiedd ohi:

I

fatrEt

Choose the most appropriate answer from the

31
a. 9% b. '

e

. HAGT d.

options given below:

=i faw e et i & wrarffiras gwge 3¢ G
_(K) b,c,a,d (B) d,b,c,a

(C) 4a,b,cd (D) b,a,c,d

(E) Question not attempted / 370 94

DEF - B14 | 6

~

(A) Z1,100
A8 1,120

“Vijaya Stambh”, located in Rajasthan was
constructed by?
Choose the most appropriate answer from the

options given below:

(A) Bappa Rawal

(B) Mahmood Khilji

(C) Rajaraja Chola

(D) Rana Kumbha

(E) Question not attempted

TeredT ° feuq “fasg o &1 o frass gz
FETIT TAT?

Frfaftaa fawedt & & waffaes sugs 9=
(A) FHUITIA

(B) T e

(C) TSI =

(E) qafaas

‘A shopkeeper sells an item for ¥ 900 and suffers

a loss of 10%. To earn 12% profit, for how much

 should he sell the item?

Teh THMSR fordt 9 &l T 900 T ==ar & iR 39
10% St 21f St R1 12% wm 37fsie ot 3 fere 3y
T Ft e f A e
(B)
(D) “T1.112
(E)  Question not attempted / JATANT ¥
Nikhil sold an item for X 1,425 and suffered a loss
of 5%. For how much should he have sold it to
¢arn 10% profit?
fFfaer ¥ wew o 5% w1 & T 2 1,425 T =t
10% T aifSia F & foIe 37w =g fray &
sterft enfir of?
(A) % 1,662 (B) T 1,638.75
(C) 1,642 —D) T 1,650
(E) " Question not attempted / 313‘6&7{ M

[ Contd

0
q/fé:;kll‘w
T 1,098 B =
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Which fort of Rajasthan was referreg ol
‘Second Gibraltar nfth%’nr[d’? | T

Choose the: most apprepfiate answer fro, &

32 Ashopkeepersold anitem forZ 960 after allowing 35
20% discount on the marked'price. What will be

the selling price of the item if he gives only 12%

discount? - options given below: % 8 H
wmﬁaﬁ%aﬁmﬁm 20% %t P 7T ~ (A)  Junagarh wiF §
39 T 960 7 =T zﬂ%aﬁat«r’lz% ﬁ?!%?ﬁm (B) Nahargarh a1 i
Hﬁaﬂ‘ﬁ'ﬁ?ﬂ‘qﬁw@ﬂﬂ | - (C) Mehrangarh - |
L&) T 1056 (B)' < 968 (D) Taragarh (Ajmer) f
(C) <998 (D) ¥ 1042 (E) Question not attefmpted _
(E)  Question not attempted / 3Tad I tﬁﬁﬂ?%?ﬂfﬁrﬁﬁ‘%ﬂ@ﬁmf
o e AR
33 In which folk theatre foqnlls_lts artist called | Areafafaa Rrscdi 5 @ }ﬁ@ 7 T
‘Behrupiya’ (Impersonator)? | ' | ™
e (A) SOoTTe <t
Choose the most appropriate answer from the -
’ — = k) (B) HAI&UTg -
options given below:
- (C) W T3
(A) Tamasha (B), Swaang . (-
(C) Gavn ~ (D)'. Ramavat —7 Bk ©

(E) Question not aﬁemq'_ied (B) STgaiauy

forg Tiieh 12 Nl § HellehR I TeSIUIT HeT Srar

628

36  Which of the following Widtricts of Rajasii®”

& ey - ¥ - -
ﬁﬂﬁmﬁmﬁﬁﬁmmﬁm Eﬁ} the highest sex ratio in 1&511 area according
LA) GLIELL | (B) I census of 20117 ﬁomﬁ
(C) ma (Dj" TS | 'Ch?ose tfae most app riate answer
(E) aﬂﬁﬁﬁ 94 E options given below: 0
3 | (A) Jhalawar N

34 Where is the Keoladeo ::(:Ehana National Park - (B) Ganganagar :-?I
Jlocated? S (C) Pali <
Choose the most appmp;iate answer from the (D) Jaipur Q
options given below: (E)  Question not attempted ﬁqﬁmi
(A) Udaipur (ér3 Bharatpur 2011 Y SFTVFAT H@W$W ¢
(C) Sawai Madhopur([}}; Dholpur ﬁﬁ?ﬂﬁiﬁaﬂm Wmﬁ - ?f
(E) Question not attemF}‘ed mﬁm’rﬁﬁ@mwﬁ
mmmmfm@m@ (A) m o
(A) IAL B AR &) el -
C) wadagw (D) Wy (D) SR
(E) AfaidwA (E) TJaftawx o N
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37  In which of the following arcas of Rajasthan, | 40  Which famous temple was constructed by the

Salar forest i1s not found?

. th
Choose the most appropriate — legendary Bappa Rawal in the 8 century?

from the
options given below: Choose the most appropriate answer from the
(A)  Ajmer g (B) Udaipur options givcn b;elow:
(©) Jaisalmcrm (D) Pali (A) Rishabhadev temple
(E)  Question Ad{ attempted (B) Eklingji temple
ﬁnl%«r%ﬁwéﬂr%:%q & o WIS a9 72 ru (C) Shrinathji temple
ST &2 'Tl' (D) Jagdish temple
RISISIicE Wﬁmmmgﬁ (E) Question not attempted
(A) I o B X gt rarsal # 9T Uad 0 fRE wfag ai=T
AC) S S (D) el | foymfor sFtamar T
(E) a@ﬁﬁanﬁ Yok Frfafiaa fawedt 4 @ gaifas Igge 39t =4:
. m . . . (A)
38 Whlfth lt:vltl'1 the :'olglni It{rees :; not found in the ) Rirsf 7
tropical thorn forests of Rajasthan? of =
| Choose the mosct:?rppmprfate answer from the ©)
: : (D) ST "L
options given be&w: -
(E) STuiawH

(A) Bamboo ¢~ (B) - Rohira
(C) Khejn OO (D) Bair

| 41  Stainless steel is made by mixing iron with
(E) Question pQt attempted T y g 1

R Wil i R R e

NI PN T T X SR a. Carbon | b. Nickel and chromium
A ?I%‘T QU ST - C. Magnesiu"m: d. Manganese *
Bt ﬁﬁ%ﬁﬁﬁfﬁmmwaﬁ Choose the most appropriate answer from the

4x) =i (B) fie options given below: ,

| € TH o O A (A) a,b ax:fd dF:'l only (B) a,bandc only

; (E) SERATED (C) b,canddonly (D) a,candd only

E Q0 ' (E)  Question not attempted

39 Name the fort b& by Maharaj Surajmal in 1733. R =i ﬁ AR # e =t e smmr sirar
Choose the mogtjappropriate answer from the B ) o

| options given beldW: a. e | b, e i ity

. (A) Gagron {5t  (B) Jalore fort e Aeffiem 4. HEw -

: (C) Lohgarh fort (D) Churu fort ﬁﬁqmﬁmﬁﬁmﬁmmmaﬁ

: (E) Question fiot attempted (A) aﬁ'ﬁ d. b afd

1733 & HETS I g ffifr feper o T @ ) v Safici
frfafead & watftr Jugm S ) Fmarb, ¢ 3t d

miEfFED  (B)  STER fore
- e fram ED; I+ fepetr D) Fawa, ¢ 3fed
N < (E)  Irqaf wx
(E) aﬁﬂﬁau&

9
DEF - B14 | 8 [ Contq._
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42  When vinegar 1s added to baking soda a gas is

liberated which when passed through lime water
makes 1t milky. The gas is:

Choose the most appropriate answer from the

options given below:

(A) Nitrogen (B) Hydrogen

(C) (D) Carbon dioxide
(E) - Question not attempted

St ST \vet ¥ R fremr s £ @ o

ﬁmﬁ%@raﬁ%mﬁmﬁwﬁwm
T R At 81 3 g R

ﬁwmaﬁwfrﬁaaffamammgﬁ
Y TR (B) ®IEZA

©) JAsT ,,.(—B)"QTIE\"—TW
(E) A7aiaws

‘Oxygen

Ten

43  In which of the following areas of Rajasthan tﬁe

desert soil is not found?

Choose the most appropriate answer from the
options given below:

(A) Kota (B) Churu

(C) Nagaur D) J odhpur

(E) Question not attempted '
TSI & F=fafRag 3@ g é‘arfrm?ﬂtrq-q-r
TET 9Tt STt 27
ﬁwﬁfﬁaﬂﬁmﬁﬂﬁaﬁmmma&r
Ay T B) =&

(C) iR (D) Eﬁw .

(E) Sqaf@uy

@ Which one of the following wild life sanctuaries
1S not located in Rajasthan?

46

Choose the most appropriate answer from the
options given below:

(A)

Ram Sagar (B)
(©)

) Ramgarh Vishdhari
Bhensroadgarh (D)

Bhimgarh, .

(E) Question not attempted _

ﬁmg?rﬁga H ®H-a1 g STHARYY Trree 3

e '7.

Frfefaa et & & waifaes ITI IR
AT TR (B) g fauyrg

©) Wty ) Miug -

(E) Syaf@wy |

DEF - B14 ) 3

45 Which of the following statemens IS not

€0
about the climate of Rajasthan? N
Choose the iiost appropriate ansye, fron \
options gwen below:

(A) The western desert receives m,mmm'

ralnfall with annual average of 25 cm. !

|
(B) The -average rainfall is not high m[

Rajasthan because it is located ; in ﬂk'

interior part.

(©)

The extension of Aravallj range js

perpendicular to monsoon winds,
~ (D) In winter little amount of rainfall is
received through mavath.

-(E)

ﬁwl%r%aﬂﬁw-mwmﬁ'ﬁw%m
9 et T 22

ﬁwf%fﬁa-crﬁaﬁq’rﬁﬁnaf@mmaﬂ?ﬁ

Question not attempted

1 3T 25 it 2) :
(B) TSI 7 it aut sifires v  FAGT |
| SRR 9T 7 oy & )
_AC) mmmﬁmqﬁaﬁﬁﬂ*f
(D) MaHIF e it aniywar el |
(E)

AT Wy | fl

Which of the following is not an alloy? 49

i |
Choose the mosy appropriate answer from th ]
options given below:

(A)

T il A

:
Stainless stee] (B) Mercury |

() (D) Bronze
(E)  Question not attempted

ﬁw%ff@ai‘rﬁaﬂq-mﬁmngqﬁ?-? 1
m@ﬁﬁmﬁﬂﬁmﬁi}mww#

Brass

- DEF
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17 Which of the following non metg] 1S a conducto
r

of electricity? 50  “Rane Jagpat ra Marasya” was written to mourn
TErna the death of-
Choose the most appropriat
T priate answer from the Choose the most appropriate answer from the
(A Todie (B)-.- i options given below:
1 :
(C) Graphite & (D) Coapl 3 (A) Rao Indi?JSlngh
(E)  Question noy Rreamisti s (B) MaharagayKumbha
Frefifad § 3 ‘ul-ﬂ'—r-! | A N (C) Maharah@Jagat Singh
Rreifae £ F% II@| e ﬂwlﬁlﬂi ] (D) Sant Nafn})&ev Ji
(A) I (B) T ™ (E) QUestic}?‘qot attempted
AC)  UHIRE N D) wmer “TH ST9q T TEAT” 138k 4] T 7T Yohe A
E) safaus S - fere ferar e
- | ﬁw&ﬁgdﬁwﬁﬁﬁwﬁ&mmmgﬁz
48 To remove fmig%ness defect of eye we use L= (A) TIT= e —B) HETOTT SHFIT
spectacles fitted with; . (C) HerRmm %%(D) G AT St
Choose the most appropriate answer from tl;le E) > %
options given beloWs:s - e L5
(A) Convexo-Cﬁéave | 51 “Jeen Mata” g—the eight armed goddess is
B) Concave lengd ~ considered the'imcarnation of which Goddess?
() Convixiens Choose the mast appropriate answer from the
(D) Bifocal lehs@ | options given below:
(E)  Question no aftempted - (A) Sarasw{;g .~ (B) Durga
eﬁf% I Y I 31 F % fore e Py Sy © Lakshmpyy - (D) Gayatri
Eﬁﬂmﬂ?@rﬁg‘q 1 _ | (E) Questiopygot attempted
ﬁﬂ%%aﬁﬂﬁﬁaf&maﬂgﬁwaﬁ | Wﬂ*m‘mﬁwmww
(A) TS S " =
(B) aiaaa@m% ﬁﬂ%&aﬁﬁﬁﬁmmmaﬁ
—C) AT SH (4) s&df @y =
(D)  faperett o 3 ©) D) TR
(E) Iqaf@wy g (E) alfﬁﬁﬁ% |
49 Which dialect of the) Rajasthan is spoken‘ inthe | 92 ‘Teej’ festival®h} Rajasthan is ¢ leb :
region of Churu? 3. month of - » | Clebrated in the
Choose the most appropriate answer from the ~ Choose the p oDri |
options given belorzf ODtione \&5f appropriate answer from th
gl ‘ W Ptions given Balow: s
(A) Hadoti € (B) Wagadi (A)  Phalgud® () g
(C) Malawi (D)  Shekhawati | (©)  Chaitra (D) hrav -
(E) Question not.attempted (E - Kartik
TSR ¥ % 8 dI:r ) Questiogryot attempteq
Aot et 89 e g o | P 1 T e
A) A N ®B) aFmd @ v N o I
(C) werEt 3,(-57 faEd ©) ¥y5° O CIEL; ‘
" (E) Nﬂﬂﬁ?{ e - (E) aﬂﬁﬁﬂ;; (D) Ffden
DEF. Ry '
4] 8 - 11 | 9y
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Where is the Kapil Muni fair held on Kartik

53
Poornima?
Choose the most appropriate answer from the
options given below:
(A) Rewasain Sikar
(B)  Chaksu in Jaipur
(C) Kolayat in Bikaner
(D) = Diggipuri in Tonk
(E)  Question not attempted
e ot =t Hier qfy e wat o 22
e feredt 3 & warffiras g 3o g
(A) a‘imﬂimm‘
B) waRdiwmy

AC) FEERA T |

(D) %ﬁ%ﬂﬁgﬁ oF

(E) qufta

54 The article of Jewellery called “Borla” is worn by

the Rajasthani women in

Choose the most appropriate answer from the

options given below:

(A) Neck
(B) Ankle
(C) Wrist
(D) Head

(E) Question not attempted

(E) 3FaRauy

DEF - B14 ] 8

A5 To which area of Rajasthan does Shree Laj Josh
a Phad artist belong ? ’
Choose the most appropriate answer from h,
options given below:
(A) Bhilwara (B) Jaipur
(C) Jhalawar (D) Kota
(E) Question not attempted
BT FATHT 2t AT St T T ToTeIm 3y

ZERIRY,
_ﬁw%rﬁgﬁﬁmﬁﬁﬁwaffwwgmmaﬁ:
KAy MieTETsT (B) A

(C) TS (D) i

(E) Sruaftays 5

56  Keoladev National Park is famous for -
Choose the most appropriate answer from the
options given below:

(A) Elephant conservation

(B) Tiger conservation |
(C) Migratory birds - _ |
(D) Lion conservation
(E)  Question not attempted |

FaART U 3T & fae afag 3
ﬁn%%ﬁﬁwﬁﬁ%mﬁﬁawwﬁ
(A)  &reft Gegor (B) <far Gwaor
E) VI (D) fw @0 @
(E) i@y

la “Chipko” movement in Himalayan region was
held to resist against .
Choose the most appropriate answer from the
options given below: i

_ (A) Road construction in hilly regions

(B) Hunting
(C) Cutting of trees
(D) Over exploitation of forest resources
(E) Question not attempted

12 [ Contd.- }
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¢  Name the Hindu Saint, also Worshipped by the

muslims as ““Ramsa Peer”, :1
Choose the most appropriate answer from the l
options given below
(A) Ramdevji (B)  Mehaji Mangli
(C) Devanarayanji (D) Mﬂllinathji
(E) Question not attempted
w%——dmaﬂmﬁﬁqﬁmaﬁ tqm:ﬂ;-a;mﬁ
TS ®:
ﬁﬂ%@ﬁﬁﬁﬂﬁﬂﬂmmmﬂﬁ |
oAK) TS (B)  ereft wfema

(C) <EARmEvE (D) wieamTost | 62
(E) IJRa o

59  What is the colour of the ‘Pomcha’ presented to
the mother of a new born daughter? e

Choose the most appropriate answer from the

options given below:’

In which year was the “Mewar Praja Mandal”

established in Udaipur?

Choose the most appropriate answer from the

options given below:

frafafiaa fareai g 9 mrffim‘wgﬁ:‘a‘ﬂtg?r
(A) 1940 (B) 1937
(© 1938 (D) 1939

(E) 'Question not attempted / JATTAIT T4

The integration of the Rajputana into present day

- Rajasthan was completed in how many stages?

Choose the most appropriate answer from the

| options given below:

| Wmméﬁmﬁm%mﬁﬁmﬁ

T FET g A2

(A) Orange (B) Pink fr=fefiad faseat § @ gaffae uge T A
(C) Yellow (D) Lavender /® 7 (B). 2
(E) Question not attempted C 3 v(D) 4
- aTd Ot < T Ry fore G s i feam S a7 (E)  Question not attempted / 3ITARd =
| Frefafed Ryt § & gatfaes 39g® W | Bl
GV (B) TSt 63  Which famous personality of Rajasthan is also
L-'(‘G) RIS (D) ﬁTFﬁ (A=) known as “Banasur Ka Shaheed”?
(B) AT 9 o Choose the most appropriate answer from the

6  To which family of musical instruments does the

"Shahnai’ belong?
Choose the most appropriate answer from the
options given below:
(A) Sushir (B) Dhol
(C) Beat (D) Barrel
(E) Question not attempted
&S STt & o afE & Heifud 87
VAT gRR ® *
© dfie (D) o
(E) ygaiay4
EF.B14) 8 13

/R) A wrET It (B)

options given below:

(A) Major Somnath Sharma

(B) Major Shaitan Singh

(C) - Lt. Gen. Nathu Singh

(D) Lt Gen. Sagat Singh

(E)  Question not attempted

TSI % fory witrg safvrea ) ST T YT
i =T ST 29

Fefefas Ryt § @ watfores UG I G-

ﬁmi‘lﬂmfﬁg
(©) @f'ﬁ"—r:l'rgﬁg([)) %mmﬁi‘g
(E)  rafa wy

[ Contd...
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64  Match List-] witli List-II.

List-1 List-11

a. Non-metalusedin =~ 1. Graphite.
, -
acid, gun-pwder

and Il'lEdiCilgg

N
b. Non-metal tsged I1.

n electrodeg

c. Metal used in?

Mercury

III. Sulphur
electronic i:&truments
and wires

d. Metal usedféi |

thEI'IHDmEtETQ

Choose the mqﬂ, appropriate answer from the
options given Heldw:

ﬁ a-1LbALy,c-1,d-111
o a-m,b;j:c-!v,d.u

(E)  Questiof Dbt attempted / TTwf Wi

DEF - B14 | 8

65

66

Which of the following non-metal reacyq With

concentrated nitric acid (HNO,)?
Choose thé most appropriate answer from e i
options giverrbelow:
(A) Todide~

cO
(B)  Phosphgrus

(C) Carbo¥’

|
(D)  Sulphup

(E) Quesfioh not attempted ,

el ﬁo d FH-H ATy 9 WhE am

(HNO,) % g1y thufsrar st 22

ﬁnﬁﬁmﬁ%m‘fﬁﬁmﬁmmmg&: g8
| | |

(B) wﬁg

(C) ?ﬂaf:ro

(D) WH 3

(B) SAgaftws
O .
Q0

Shekhawati({fgion 1S part of which of the
following j;}lﬁiographic division of Rajasthan’
Choose theesmost appropriate answer from the
options givén-below: 69
(A)  Eastern plains region

(B)  West€tn desert plains region |
©  SemiRid region f
(D)  Aravgl region | .
(E) .Ques '_o.ln not attempted

NEER S ¥ fraffaa § fﬂ
V- TeHTa ferdrer st vy 9 |
Freferfian foredt i @ wratfores gugw s T |
(A) et A E P b b

-

Scanne d with CamScanner



In whicl? 'of the following areas of Rajasthan
black soil is found?

Choose the most apprapnare answer from the
options given below: .

(A) Churu (B) - « Jhalawar

(C) Jaisalmer (D) Bikaner

(E) Question not attempted .
rra@gj & fafaRaa a @ ﬁ?‘er R et a7
STl

ﬁﬁmﬁmﬁﬁﬁwﬁmmgﬁ:-

(A) T¥ B AEETS

(C) SR (D) wfiwRT

(E) TJaia

L In Réjasthan (SEZ) special economic zone for
! handicrafts has been established at:

Choose the most appropriate answer from the
options given below: '

(A) Sitapura °~  (B) Bhiwadi
(C) Bhilwara (D) Boranada
(E)  Question not attempted -

wmﬁzmﬁw%%ﬁﬁmaﬂﬁhaﬁﬁwﬁﬂ
IEDIRID S

ﬁw%ﬁaaﬁam‘rﬁﬁwaﬁm’mmaﬁ
AK) AT (B) fraret

C) Hfilgarer | (D) WEwRT

® e

69 Who has been awarded the Padma Shri Award
: 2024 from Rajasthan in the field of social work?
Choose the most appropriate answer from the
options given below: |
(A) Mr. Janki Lal
(B)  Ms. Maya Tandon
. (©) Mr. Kumar Manglam Birla
. (D) Mr. Laxman Bhatt Tailang
- (E) Question not attempted
| USRY @ g o & 8 i qrehi, 2024
. R gt T |
Frerfafaa Rreredi # & waifie sugw ST
(A) 4t STkl AT
®) whme
(C) oft o e forgam
(D) sff <TEOT g AT

AT WA

70

Match List-I with List-II.

List-I List-II
(Project/festival) (Place)

a. National park I Jaisalmer

b. Desert festival [I. Sambhar Lake
c. Ramsar site [II. Ranthambore
d. Braj Holi IV. Bharatpur
eft-1 o |y =11 %01 firem i
-1 aE-11

@ @)

a. USHFqreh L SEEET

b. S Hfeas 1. Fhre

c. THEL T 1. TR

d. A IV. WEq

Choose the most appropriate answer from the
options given below:

e faq e farredt 7 & watfires 3uges sat=:
(A) a-I,b-TNLc-Ld-IV

‘B) a-Lb-ILc-IL,d-IV

/é) a-NMLb-ILc-I,d-IV

71

(D) a-Lb-IU,c-II,d-1IV
(E) Question not attempted / AR T3~

Which of the following cultural/ tourism events
in Rajasthan will appear first in the year (English
Calendar, 2025)? |

Choose the most appropriate answer from the
options given below:

(A) Braj Holi festival

(B) Camel festival

(C) Kite festival |

(D) Baneshwar fair .

(E)  Question not attempted

TSR | 99 2025 (aﬁvﬁ%ﬁm%mﬁqﬁ
q H TR N AT I/ T Rk 5y
-

ﬁn%%aﬁwﬁﬁﬁaaﬁw%mﬂﬁ:
(A) TR HEIwa (B) e Imqy

ACT T HElad (D) STOET

(E) orgafaws

[ Contd._
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72  Which of the following techniques is suitable for | 74 Which of the following are the ex

the disposal of bio-medical waste? communicable diseases?

Choose the most appropriate answer from the a Chi?lfen. pox
options given below: b. an.-cff, o
(A) Gncineration | C. Tubelfculq_s.js

L?tuse | d. Diabgtes?\::
(& gndﬂl | €. ° Cholera \D

Ch H o
D) Wisposal in running water oose the nlﬂ{ﬁ‘ﬂppmprmte answer from the .

1 options given b&ldw:
(E) (Question not attempted ¢ &

A S Wy N g SN (A) bandd o(n:ljr (B) a,dandeonly
3£ ?%W . EE; Zbarfd c%lly (D) a,cande only
o : tion 110t attempted
ﬁﬁ%@ﬁ_ fawreal ° | gaifaes Iggw Iar=: - o
C ANy Frfafaa 7 & B33 e W1 F e H
(A) &t _ -
) & | b. FR O
SR A% c. UH (TTFHANTH)
(D) gﬁtrﬁﬁi’iﬁrqarr | i . e o
(E) CGIaia vy ' R " %T:T @,ra%
00
N _ ﬁﬁqﬂlﬁ%ﬁﬁmmmﬁ
73 Su'epﬂﬁycin, tetracycline and erythromycin are (A) W b 3T (B) wadda,d3iRe
the exa‘_:“nples of- (C) had a, bg'( c. EB?—" Fad a, c 3N e
| ‘ Choofe~the most appropriate answer from the (B) 3135"&3 qd
r e options given below: | @ | Q
A . D‘ . . -
(A) Bicteria (B) Antibodies f:n‘.de . 1’7275{1 A
3,4 ‘
(©) g}]tibintics (D) Preservatives = a-nd Qs rESpecnyely may b S,
| the rate of lntergﬂbeing 5% per annum at simple
(E) estion not attempted WO, seéo% St
| ’ ke iS;
;;'E”?“ ';” o 1 727#?ﬂqq‘qﬁﬁwwaﬁq%5%mﬁ$
% Freafeifda 3 sarew 8- | | ATIROT ST 2 GO FT: 3, 4 qur 5 a¥ gerd
: ﬁnﬁ%aﬁaﬁiﬁﬁnaffhaaﬂgmmiﬁ: ¥t s 8 e s
(A) T 600 g Q :AM"Q huo +oxm ’
(B) T690 0 ‘L" o
(C) T 552 g 53’0
22}’ 2575 pmy
(E) QllﬁStiOﬂ@t atten'lpted / Q]Wﬂ’ﬂ
(A . I Contd.-
gV T an
6% o ks ‘)(

| ' E ]
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On simple interest certain sum of money amounts | 79

to X 18,130 1n 6 years and to T 20,090

J

in 8 years.
Find the rate of interest.

TV ST T HS U0 6 a4 1 % 18,130 8y w7y
RAATRTUHR 20,090€rawﬁ%i%13ﬁatsrma?ﬂ

A 8.8% B) 6%

o &
E)

Question not attempted /.

3
177 Mendel performed hybridizat{on experiments on
; plants.

;_ ; -
| Choose the most appropriate-answer from the

options given below: 0
(A) Onion

(B) Tomato

(C) Rose

(D) Garden pea

(E) Question not aﬁeﬁptedo
LESERCUR L

P

Q)
\ie
vad
=

-

80

Which of the following sﬁav heterozygous
alleles? -
€N

Choose the_ most apﬁmpri’at&ﬁnsﬁer from the
options given below: v
(A) Both TT and tt (B) ﬁ

© (D)

Tt
(E) Question not at;erﬁpted |

- Frafafeas & ¥ @ %qum Rt

Freifafier foepedt & & wratfores Yogw
LD T
25~ (A) TT3RudA (B)

C) tt o

(B) ufawx
DEF - B14 ) a :

2y
L5

sy~ 60O
* S
tq_lﬁ'

78

545

AR St
& . . " ¥ s
Tk i ¢ \‘;

£y

200 90
A
1 96 " 558
Match List-I with List-II. I m/%m\i :-.W( (}
List-1 List-II | 00
a. Phenotype [. Genetic constitution
b. Gene II. External appearance
c.. Genotype [11. é{;)t expressed in F1
(@eneration
d. Recessive IV. @Jctor that controls a
character ‘Er}_’l’aracter w
@-I%m@-llmﬁa%'ﬁﬁrﬁrql R>* 3813
-1 11 550
a. TARUITEY . FrafTes gt (9
b, S I, : puCicou)
c. S wET 1. iy it 7 Afrers 7 607

BT ’8
ﬁrq‘aa’r%a"r

Lo =t frfera e 2
Choose the most appropriate answer from the
options given below:

A fe e forenedt 7 @ waitys Sugw I A
(A) a-Ib-II,c-1I,d-1V -

a-ILb-1IV,c-1,d%
a-Lb-HIc-1II, d+

Cd. VTt RO V.

(€)

(D) a-IV,b-Il,c-1Ld} I

(E)  Question not attemptéd / 3‘11'1"1'&?[ 9T
-

The Bhakra Nangal Project is a joint venture of
which of the following grcEB of states?

Choose the most appropyiate answer from the
options given below: (88

(A) Punjab, Rajasthan, Ottar Pradesh
Haryana, Punjab, RSJ _Lhan
Haryana, Himachal Pradesh, Punjab

Rajasthan, HaryanagsYttar Pradesh
Question not attempted
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82

. Which one of the following water dam projectsis | 83

81
not associated with Rajasthan?

Choose the most appropriate answer from the

options given below: |

(A) Panchna dam project - |
(B) Sidhmukh dam project
(C) Jakham dam project

- (D) Matatila dam project

Question not attempted

(E)
ﬁﬂri%ifhﬁﬁﬁﬁmma?—rmtrﬁtﬁwmw

TSTEAT | &1 27 .
FreferRaa faehedt & & waffaes sagw swea:
(A) giAT ST QR ISET

s By T sty afEismEr

(C) STEH Y9 IREFSHET
D) - m'amwmtrﬁu‘tw
(E) garaws

Pichola lake is located at which place in

Rajasthan?
(A) Bikaner
(B) Kota .
(C) Udaipur
(D) Jaipur
(E) Question not attempted
foate e s & forg v @ Ryg 29
(A) SR '
18

Match List-I with List-II.
List-I List-II
(Farm animals (Caused by)

disease)

a. Anthrax I. Protozoa

b. Cowpox [I. Hypocal¢emia

c. Coccidiosis III. Bacteria’f

d. Milk fever IV. Virus i’

-1 o |1 g=h- Haﬂfﬁaﬁfﬁiﬁm

-1 qet-11

(Ié?ﬁ%waﬁ%@n (FTR)

a. TS . TSR

b. Trftaar II. eTsqihcHaT
GAEZICE)

c. HfAfE 1L Sy @

d. e fiax IV. fasmy (@r)
(=T S

Choose the most appropriate answer from the

options given below: .

| ﬁ%ﬁqwﬁmﬁﬁmﬁbﬁmmwﬁ
,,(A)”’ O,b-Lc-IV,d-TI

a-IL,b-Ml,c-IV,d-1I

(C) 8- TL b1V, o= Ld- 11>
(D) a-Lb-I,c-II,d-TIV
(E)  Question not attempted / 317afa 9

Approximate age of sexual maturity of buffalo
bull is

Choose the most appropriate answer from the

options given below:

(A) 20 months (B) 22 months

(C) 18 months (D) 15 months

(E) Question not attempted

e A A afwwmar fir ewEltE TG
gt R

et faredt & & watfare sagem 3@ ki

(A) 207mE ~AB) 229®

(C) 18Hm® (D) 1S5HE

(E) 1gafawy
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. Which of the following ;<
= S 15 Mot a component of
bm-gaS?

Choose the most appropriate answer from
options given below:
(A) | Oxygen (O,) &
(B) CH, (Methane) é.)
(C) Carbon dioxide (COZ) 0
(D) Hydrogen Sulphide (st(j\l
(E) Question not attempted )
P 3 & - .o St v B
Frerferfian farredt 3 & wartfirm g s
AXY AT (0,)
(B) HRM(CH,) -
(©) Wm(coz)g
(D) EISHISH THIES (H,S) (g
(E) IFFORA W= G
| v
86 Which of the following Pashu Melas are
conducted in Jhalrapatan g:f:} Jhalawar in
Rajasthan? " B
Shn Baldeva Pashu Melg

a.

b.  Gomti Sagar Pashu Melay}
c. - Shri Ramdev Pashu Mel4™{
d.
e.

the

Shri Chandrabhaga Pashﬁ’lela

Shri Veer Tejaji Pashu Mela |
Choose the most appropriate (@pswer from the
options given below: -
(A) aandconly (B) a,bandeonly
(C) c,dandeonly (D) b %d d only

(E) Quesﬁon not attempted ¢yY

ST 3 STeTaTe ¥ SeraTe Sifretetad § 8

Hﬁqﬁqﬂmﬁ@rmﬁiﬁa%&‘sﬁ;&%‘!
a. o Serea gy A ;,
b. WEAEIRUYHAT ¢y

€. ﬁaﬁtaﬁ'ﬁﬁqﬂm g b
Y R o et & @ waffira@y g ST
(A) Fadasic (B) Fada ballle
(C) mc,daﬂte/(m“ b 3R d
(E) rfaftawH o=y

DEF . B14 & -

87

88

89

The percentage of total solids in cow milk is
approximately :
T4 o g9 § Grqof 31 T Fferar .
R 2| - :
Choose the most appropriate~answer from the
options given below: 0
mﬁwﬁﬁﬁwﬁ%ﬁmwgﬁ:
_AKY 18.5% (B) 8.6%

(C) 5.8% (D) 13'.2%

(E) Question not attempte@ﬂ?ﬁlﬂﬁ 94 |

().

-
‘Operation Flood’ is related tE:J

Choose the most appropriate answer from the
N

oil (B) :‘L{ii’lk

(C) fish (D) syater

(E) Question not attempted.?
‘IR TS’ Hefod o

frefafad faeedt § & gaffa®sugs a4
(A) W@
(C) #=Ed¥

(E) ATORauHy

options given below:

(A)

A shopkeeper allows successjve discounts of
15% and 10% on every item. He allowed an
additional discount to his friegl. His friend paid
2,907 for an item marked fpEZ 4,000. Find the

percentage of additional disgunt given to the
friend. | AN e

@Wmaﬁmlsvﬁm 10%%}3#?;3;
W%%lmﬁﬁﬁﬁﬁ@aﬁﬁmq{ﬁ‘
HIFT T 2 4,000 1 TG D fore 3w fiyy 3
X 2,907 T I6® O o A ¢ sy

T
RIGMEIGEAIS LY = - EE
(A) 4% - "
B) 7% g (o )]
©) 6% 0O A b
—~B) 5% | - o —
Y oy
(E)  Question I}E'tbauempteg%ng 2907
g . AYP
% - 290 290 m\‘Sd“-
\5D) v gt F
VMR priaks
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Who is the capltain of thel 4" Hockey Indja Junior §

National Championship 2024 for ‘Hockey

0% and 40% of 94
the first Men’s

Rajasthan’ team?

j. _
e second number? jate answer from the

nmmﬁber Dfr.ﬁ-gﬂth daT it A 30% T 40% @I Choose the most approprt
ﬁ;ﬁﬁ e et AT Y feha ST &7 I options given below:
(A) Meena Mohit
M 75% 4 b | a
B) 40% | 30 - (B) Kamalkant
(C) 50% %%‘M 53 | (C) Gurjar Sachin Singh
(D) 70% - (D) Himanshu Kumar Meena
(E) Question not attempted / a:lﬂ?lftﬂ B ‘ (E) Question not attempted :
# 76 T8¢ 14ammaﬁmaﬁ%ﬁmﬁw 20247 T | 1
91 Three bells ring at intervals r.i:f ? I?;::tem t :r:i e a
minutes and 15 minutes respectively. €y S L o6 e
ringing tngether at the same time, after how much Frefafa foped] e ~
time will they next ring together?, . _ (A) s Aifed
(A) 3 hours B) 1 hour 50 min M - o hHcIhI~d
(C) 2 hours (D) 2 hours 30 min (C) TRl fE
(E) Question not attempted . (D) {%q-rﬂwrﬂvn 2
e feat st 9 fire, 12ﬁ=|zam15ﬁqz% E) ara v k5
SIS W At 8] A I T A O E T W . oo 1
= a,—{;ﬁ 7Tt 9 fohae @9 & ' :
1?11? i > Y @ 95 In which game did Annu Rani win the gold medal
i 3 q% B) 1% 50 fre | in the Asian Games 20237
AH) - - - 97
©) 2% D) 2% 30fme . ' Choose the most appropriate answer from the
; (E) safE I . I options given below:
| (A) Shooting
92  Three numbers are in the ratio 3 : 4 : 6 and their - (B)  Wrestling
HCF is 9. The LCM of the number is: -~ (©) . Javelin Throw
;ﬁ?m3 i4:6%mﬁ%WWHCF9 (D) Discus Throw
39 G : :
(:\) 324 T (E)  Question not attempted
. B) 216 o
(€) 540 ;D; 108 aﬁzoﬂ%@ﬁﬁ@?ﬁﬁﬁnﬁﬁmﬁﬁﬁ
: 9T 9 S
(E)  Question not attempted / TR Iy B
' ' Freferfaa faeredt & & waffayes sgge s H
93 The HCF of 13.5, 0.9 and 12 is: (A) TR
13.5, 0.9 99T 12 %1 HCF (Y&vH @G da) &: (B) It
(A) 54 AB) 0.3 (C) W e
. 1ae ®) 3 (D) fewra o .
(E)  Question not attémpted / ?ﬂﬁﬂ'ﬁ | (E) rgaftawy . DE
DEF - B14 | 8 &
20 _ [ Cﬂntd.il
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. L T R ot i S N e
" %

Rajasthan under

In the -

9 ' "Mukhyamantr;

. 98
Ayushman Durghatna Bima Yojana”

» the amount
paid by the government, in case of death of more

than one family member in an accident is:
Choose the most appropriate answer from {he
options given below:

(A) < 20Lac : il

(B) <3SLac .

(C) X 10Lac

(D) X 25 Lac

(E) Question not attempted

T § < qEEwHt TGS geenr st A, ¥ |

Jaia fordt aRER & T | aﬂfﬁﬁﬁmﬁﬁ%mﬁ

e — -

OBCs the

expenditure is shared between Center and state in

In Pre-Matric scholarship for

the ratio of:
Choose the most appropriate answer from the
options given below:

100% state sponsored scheme

(A)

(B) 70:30

(C) 50:50

(D) 100% centre sponsored scheme
(E) Question not attempted

I fuser at & o Afg wd omafa 4 =39 &
TAUTA w5 I ST TR o o1 2:
frafefad faeredl § @ gaffares Iugw I A

/em/ 100% TS & H&EdT 910

7o T ST WA fohaHT 82 B) 70:30
frefafiad faehedt § @ waifars Jugw I T ©)  50:50 |
(A) R209@ (D)  100% FZ & FEFaT ITH
(B) X57m@ (E)  3rgaia s
ALY T10@@ | *
(D) R259@mE 99  Ifthe average of the numbers K, (K+7), 7,9, 12,
(E) Syafaus 15 and (2K + 1) is 9, then what is the value of
X ' (K2 +1)?
According to Rajasthan budget 2024-25 3™ | afs HEm K, (K;' 7), 1,9, 12, 15T4T (2K + 1) 1
February 2024) which of the following amount ST 9 B, N (K2 + 1) F1 9 3471 82
bond is proposed to be given to girls through Pl B " BE
. _ * ey 10 (D) 17
S st - . (E) Question not attempted / 3TN w3y
Choose the most appropriate answer from the ). N
options given below: 100 Anitem was sold at a profit of 15%. If its cost had
TSRY aoe 2024-25 (8 HEd 2024) % AN been 5% less and it had been sold for T 258 Jess
“ATEY Weared FISAT i et @ frer # @ the profit would have been 12%. Find the Cost
ﬁﬁﬁtﬁmmhmﬁﬁg‘? | price of the item.
Frefofaa faaredl 3§ & watfers sagw a0 T T TR Y 15% T =T Ty i r—
| (A) %2,00,000 5% % T YT AT X 258 F TR TE Bret iy g
!‘ (B) 50,000 12% T BTl 5 [T T Y
(C) 1,00,000 (A) 2,940 (B) 3200
(D) ¥ 1,50,000 (©) 3,120 BT 2 3,000
5 (E) Question not attempted / aywfta W4 (E)  Question not attempted / ST o
| DEF. 14 o al" 1 e JT [ Conigis
S5 s 1909
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101

102

103

Which fort in Rajasthan was called the armoured
fort (Bakhtarband Durg) by Abul Fajal?

Choose the most appropriate answer from the
options given below:

(A) Taragarh (B) Kumbhalgarh
(C) Nahargarh (D) Ranthambore
(E)  QG&stion not attempted

T Feted ™ T 3 Rera forg forey i st
ﬁm%‘f@?

qmﬂ?ﬂ@raw’if@:a;mg?swgﬁ:
(A) @ (B) FPWeTE

©) &g D) TR
(E) Sggiawy RU FhRFT

What arg-Bateliya, Bichhiyo and Lalar?

Choose Lt__h_p most appropriate answer from the
options given below: '
(A) FbId musical lnstm;nent- %

-,

B) Ft':}ﬁ dances

(C) Foll sc:ngs

(D) Folk drama .

(E)" Question not attempted
gefer, fafsat ik arem s 82

ﬁw%f@%mﬁ@maﬁhmmwaﬁ

(A) AHITIA  (B) SR
Ryt c
(E) a#ﬁﬂ?r L)

In Zﬂlﬁ,ﬁ,,hmh famous folk dance of Rajasthan

was ingluded by UNESCO in its 1ntanglble
Cultural heritage 1ist?

Choose the most appropriate answer from the
options EiVen below:

(A) K'a’mehya Dance

(B) Agt; Dance

©) Dance

(D) Tgth Taali Dance

(E)  Qugstion not attempted

2010ﬁ@wﬁ%mmmﬁﬁm

(©) tﬁaat (D)

104 - Name the’ folk deity of Rajasthan known {

God of camels-

Choose the most appropriate answer from t
options given below: '

(A) Mallinathji- (B) Gogaji

(C) Tejaji (D) Pabuji

(E) lrQuest:n:::tn not attempted

UWH% SIES qmwmﬁ%waﬁma
SIGH %— %

ﬁﬁf?—l‘f@?‘r fareheal & O waifaes 3UgTH I ﬂ'}'

(A) *crﬁmsﬁ (B)  TIITSH
(C) Swsft D) 9t
(E) STqafta s

Whlc[;i“g?enre of Rajasthani literature is just li
tellmg an llstemng to a story?

Chouse ;the most appropriate answer from t
ﬂptlonga:gwen below: _
(A) #Vigat (B) Jhamal
Parchi
(E) Questlon not attempted

Wﬁﬁw%mﬁmﬁmaﬁaﬂw

ﬁﬁv‘cﬂ’fﬁﬁﬂﬁf@mmmaﬁ
(A) {fom (B) #HA

% (D) s

106 Wthh dlalect of the Rajasthan is spoken in t!

regmn of Kota, Bundi, .Thalawar and Bard
regmrf 2>

Choowh
ﬁ“} € most appropriate answer from
DptlﬂnS:;gwen below:

(A) Malawi (B) Mewati
©) thlldh&n - (D) Hadoti

(E) .8.uest10n not attempted
TSTEATH & i, &, FreTaTS ST ATt A A A

(A) t; (B) ﬁaﬁﬁg
SIS (D7 Sl
(E) ‘Srqafia ysy |
”» [ Cont?
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107 Which of the following 1s not the breed of buffalo: | 110 According to ‘Rising Rajasthan 2024°, Rajasthans

rank in installed wind power capacity is:
Choose the most appropriate answer from the

Choose the most appropriate answer from the
options given below:

(A) Murrah (B) Mehsana options given below:
(C) Beetal (D) Toda . (A 4t @) 2
(E) © Question not attempted - (c} o~ (D) IS
SefafRga g aR-dt o9 "ﬁW T %? (E) | Question not attempted
ﬁﬁmﬁmﬁﬁmﬁmmmﬂa TERIT e il i . =l W
() T B) 3 TUTI &T9aT o $FH o TSI T T e-

i Bt ;. fraferfad fyeedt % & gaffars Iuges STT:
(E) ITaRa A ; (C) qd= (D) 99d

, (E) Iaiayd
108 Which of the following is the correct temperature |

for cryopreservation of semen in liquid nitrogen? 111 Who among the following players of team
‘Hockey Rajasthan’ made the only goal in the

14h Hockey India Junior Men’s National
Championship 2024 against ‘Hockey Haryana’?
Choose the most appropriate answer from the

Choose the most appropriate answer from the

options given below:

aﬁﬁaﬁmqﬁ@a?ﬁﬁmmqﬁ{waﬁ%ﬁﬂ

TN FTR? options given below:
ﬁﬂ%ﬁﬂﬁwf‘ﬁmmm‘ﬁ (A) SahilRuhal  (B)  Sunil Mann
(A) -86°C ABY -19°C (C) Anurag Suthar (D) Amit Khasa
(C) -196°C (D) -296°C (E) Question not attempted
(E) Question not attempted / AR 94 | e TR & Fefeiea 7 ¥ fea ﬁaa-rg’r a
e e 143 ey Ty S SR AREARTT-2024 F <Fiehy
'! 109 A transmissible viral .diseasg “];l.i.al:likhet’lr is a ﬁﬁ@iﬁﬂmﬁj:ﬂﬁ 34 ﬂ}
j common disease of: (A) Hiee vea B) ThAA=
i Choose the most appropriate answer from the (C) TGN - (D) fua @™
: options given below: , X | (E) Fuia 9
(A) Sheep ., | e I ' |
(B) Goat . - 112 Which of the following is a physical change?
(C) Poultry | " Choose the most appropriate answer from the
| (D) Cow options given below: |
' (E) Question not attempted E;; IR);iZT;Z;:zM
qa;mﬁ‘&ﬁﬂﬂﬂ'ﬁﬁﬁﬂ T et (C) Crystallisation
AT =7 (D) Bursting of crackers
frafafaa ferercdl € Wi Gﬂgﬁaﬂ?@ (E) Question not attempted
/(x)" Y 1 Frerfirfi § @ ARG gy
qH HT frafefaa fReeal & | waifaes IYT I T
(c) Fape Dl | (A) WEHEIET  (B) SR s ey .
D) TEaE 3 _«€) freefidr (D) TR Stem
) omEf@wA ' s T e

DEF-B14] @ A oy [ Conta...
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113 Which of the following fruits and vegetables @ The total number of students in a schoo] was 75(
change their colour, when after cutting, they are

As a result of new admissions in the school, the £
kept open for some time?

number of boys increased by 11% and the Numbey

a. Apple - b. Tomato

o votato © d. Brinjal | students in the SCPB'OI became 846, then what i
e. Carrot Q0

the number of girfsshow?

of girls increased by 20%. If the total number of

Choose the maog{yappropriate answer from the

options given belolv: Eail ﬁﬁn?rq " @Tﬁhﬁ £h Gt H@T 750 o :
(A) a,candddnly (B) a,bandc only Wﬁmmjﬁmummzﬁm |
(C) b,canddonly (D) c,dande only ﬁll%'ﬁ"?&'ﬂm?@@?ﬁmﬁzmgﬁg,
(E) Questiongidt attempted . Ife faemey o iRy ﬁ@m 3453_“11-@% |
Freferaa 3 & SR wer SR Siart Fe3 ¥ A refit i e g 7 27

TS T & I @ Ta T 1  ufede ’/(.A() 168 — L “

A & O | - W o H\ %o

a. ¥ g b. TR (C) 180 P ""{

C. AT ¢y d ﬁ?]:[ " D) - 192 et /[ J{g

e S <t

13 R Farareibit & wrrffires s wwc
AP 7Had a, c AR d (B) FdeT a, b 3R ¢

(E)  Question netattempted / SATafd w2

117 . . - -
- FAAD, ¢ 4 (Q’i ¥ e, d 3T e The LCM of two %mbers 1s 14 times their HCF
(E)" Iafia e and the sum of L&M and HCF is 600. If one of
g the number is 28K Yhen the other number is:

114 When a numberdgincreased by 47']5- 7o of itself,
1t becomes 590. The number is:

1 TR v LCMy(S9aq §uTqada) 39 HCE
(RETH FHTHEdah) it 14 T § qur LOM (@9

ECEIEE (e k= p R 4715%a€r§ma’rag 590 & SEIRERED @TH(S?CHE?I‘ITWNERTH;) T I 600
W%IE%’E@T% ' %mﬁsﬁ‘é’rWMmO%ﬁr@ﬂa‘w%z
(A) 470 o _ A&y 80 O B) 320
l B) 350 N\ © 140 O (D) 120
ey 400 O QO
| 4 (E)  Question nQhdttempted / AT TH
(D) 430 oy ~ O #
(E) Questionipt attempted / aﬂﬂﬁﬁ B 118 —

If the average of Sgqumbers is 12 and the average
of five of these nmbers_ is 15, then what is the

average of the remaining numbers?

115 If (150% of k) —'é= 540, then the value of k js-
i< (k FT 150%)D3 = 540, A k =T 977 2.

() 1080 A1 8 WEATHY 1 3ty 12 & qorr il e G
B) 360 (o 19T 152, 3§ et am v w22
(C) 540 = (&) - 7.5 N (B) 6
(D) 920 g (C) 65 S})DY -
(E)  Question not attempted / %j'ﬂ &y (E)  Question negjattempted / TFARA T4
DEF - B14 | 6 K w0t o =124 o [ Contd.-
M*'r 1030
- K o
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o) PN TS 1o T
. e e '\L}ﬂr B G : ‘
\* 7 S 2 L L o X0
N 5% X A ad - b AP @ )5
7, AT S5 L l
119 1 average age of Bovs in ¢ : A \
7" &% 48 DS ‘M a group of students is | 122  Vast natural pastures on the high mountains, in "
7 twice the number ofgirls in the group and the :
/ average age of the whgle group of 50 students is PO P o A
19.2 vyears. If the rw of Ywrrber of boys and Choose the most apprt?;)fare answer from the
girls in the group is 4.k, then what is the average options given below: Cf)
. » " :
age of girls (in years)jt (A)  Evergreen grasslddd " )
, . . ) n
50 farenidat % v wfed et s s we |5 D 3)  pugyal 1 ~ /7
o wrgforal v 1 A @ T QanE i aiag [T . < et | 21Y
: : , r
17 19.2 a8 {1 AR gw F ek s R A [ (o | © 7 N
oar i s il & ﬁaﬂﬂﬁmﬁﬁ 19 ™D) Terai grassland % ‘EG ¢
T ) . (E) Question not attempted * L
(A). 17 o) 16 “ AT & H, 12,000 T &t £ Z=rd v frua 4
& : e ' Z
(C) 18 D) 15 i ‘ ﬁmmﬁwmﬂwﬁammﬁ% AT
(E)  Question not a@“me‘] / ST S 5 Prafafad freedt & @ waffas segw s Y0
O D ) wemEEr e ¥ e e
120 Udder secretion immediately after calving 1is | | < BY5, (3
known as (ﬂld 1S rich 1n x /GB)' , ™ 2 "Q}.’L aY
Choose the most appropriate answer from the (C) ¥ -3 X = 2
options given below:00 ' (D) Wﬁ%ﬂmaﬁaﬂp 19 ‘(;21 5
(A) Calf starter, Ig\é%{B) Colostrum, Ig A (E) aﬂﬁﬂ?r'gex m"::-'z- ?;_ < \y
(C)  First milk, Ig E7(D)  Special milk, Ig M -%(\F 5530 o
(E) - Question not a@npted : . 0 :
Fory Eﬁ‘ﬂﬂaﬁ e AT 123 Which of the followmg‘d,lfmcts of Rajasthan had [©
ETET FEaTaT 2 IR 7= ﬁm “the highest population"é’mwth rate during the
Y ( erar el - | decade of 2001-2011?

frafaRaa fasredl # G¥raiffae ugm SaUEH:
¢ 169 (&) FEERIE IgGIB) wiaey, IgA
: (C) WS.“UgE@D) fatE gy, Ig M
(E) qaRasd - | |

<t |

Which of the follbWing is not the pastoral
community of the Himalayas?
Choose the most awopriare answer from the
options given belowg™
(A) Dhangar OQ(B)
(C) Kinnauri  CN\D)  Sherpa
(E) Questit)n not &&mpted

frafafaa 9 4@ F4- T GIERT §HEH
TEf 87

R L —
PR (B) e
) fe=nd (D) et

(L) A 94

121

Bhootiya

DEF - B14 ) 8 5 ) 2 8 25

5 12

17 ] A6

Choose the most appropriate answer from the

options given below: - Ty
A)  Jai B CO v 84t T
(A) Jaipur 2’2 g 45_5:
(B) Bikaner | "
< 6
(C) Barmer /ﬁ\ 8 .8 5-)/”_? 19 [
(D) Kota y /0 Ty é—\\f
(E) Question not attempted ’P Ra ﬁ
20012011 ¥ =z # REfafaa § ¥ toreary & 3
fore oy o e AR e oty 8y
Pt Fraret 2 P Togm ey, 3en
(A) SR Si " d
(B) &Mt - 2
V(CT (n Cr) 80-}.}5
(D) T Yo Io %—ﬁ;‘b Q
(E) 3ygafaud 3 o )
J S0
j'g _(L __'1_3_'_&_ “7€ICOntd f()
5T SeY 1576
—
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124 Which of the following districts of Rajasthan had | 126 Diffused reflection is caused by:

the highest percentage of urban population in Choose the most appropriate answer from

their total population in the census of 20117 options given below:

(A) Concave lens

Choose the most appropriate answer from the
(B)  Irregular surface of the reflector

thic;ns given below: (C) Plane mirror
(A) Udaipur . | (D) Brright and smooth surface
(B) Jaipur ‘ (E) Question not attempted
& . o R (arfrafir) woads ok Fro e |
D) Bikaner _ ﬁ?ﬂ%ﬁaﬂﬁﬁﬁﬁmﬁmmm;ﬁ f
(E)  Question not attempted i S———" |
_ _ 4B~ quads 6 Afafia gaz
2011 Y SHFOAT § Torew & Prafefaa da e | (C) wwae gdor
ﬁﬁﬁmﬂmﬁmwuﬁaﬁm@aﬁm " (D) <udhIet AR et gag
1wt o7 | 1 (E) afaws
mﬁwﬁﬁmmmaﬁ: 127 ' 1s mostly used as side mirror o
A) T - . Et]:lhlcles. -
o t?ose tFe most appropriate answer from the
£B) S options given below:
(C) =l | (A) Concavelens (B) Concave mirror
(D) w=FHT (C) Convex mirror (D) Plané mirror
(E) aﬂ“ﬂaﬁﬂ : ' (E)  Question not attempted
B . - aare.;thrr YA qTEAT & ITE TS
. . . . Eq' W l |
125 Which of'. the follomr_lg statements is incorrect mﬁﬁﬁﬁﬁmmmﬂi
about the image formed by a convex mirror? | (A) IEaT G (B) aaa;{atfur X
Choose the most appropriate answer from the A€)  IuA oy (D) e o
options given below: g (E) igaia wy
(A) Itis smaller than the object.

128 Who is known as the father of nuclear science 2

i (B) Itis virtual and upright. e
©C) It fs formed behind the rni.rror. Choose the most appropriate answer from ¢
(D) Itis formed on the same side of the object. options given below:
(E) Question not attempted | (A) Dr. Har Govind Khurana (Khorana)
e o 3 ZI w aTe Wit F A e (B)  J.C.Bose
o @ FH-9T 99 T 27 h (C) Rishi Charak
frafafad s ¥ & aatfores 3u: 3 (D) Dr. Homi Jahangir Bhabha
(A) AT AT S o ﬂﬁ (E) ‘Question not attempted
) 39Y | W | foR it fagm (:E%ﬁmuﬁﬂ)*“ﬁ
- (B) A et 3R wfrur grar ) & FY ¥ ST ST 29 .
- e Ao ar ) Freafirfiae e § & wratfires qugm 30
T, B 10
(D) A g are 9T € Sar & (A) = gUAYB) . ®L AW
i ©) ®RaTwH  _p) AT e

(E) 3rgafta g4 (B) i wyy

DEF - B14 | 8 26 [ Contd-
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3\ Ak

boe)
120 Which of the following endocrine glands is | 131 A flap like elastic cartilage whiq%cts as a switch

the master gland of the bod
e 5 1 L between the esophagus and trach€h is:

Choose the most ﬂppmpl‘rare EiHS‘i(CI‘ from the

options given below: EAAN “‘_ | Choose the most appropriate %wer from the
(A) ~ Thymus gland (B) ‘Adenal gland options given below: ;,"
(C) Pituitary gland (D) Thyrbld gland (A) Bronchus D
(E) Question not attempted | (B) Pharynx
ﬁﬂ%mﬁﬂﬁﬁ-ﬁmmﬂﬁlgﬂtzﬁ CHTETT .
AR
e o . - (D) Epiglottis g
fafafaa e 2 'HHHQEH 37T IW T | o
(A) UTSHY Ut &Y (E) Question not attempted iy
(B) aﬁaﬁ(@ﬁﬁ)uﬁ: __ 512 TH T (), HH TeATEd IWRY /AT ST
~ gy (et i 5 SR B iﬁﬁ?ﬂﬂmﬁm(ﬂ@ﬁ’)ﬁﬁzﬁ?ﬁaﬁ
(D) wEEEIN = avkedwsrwis o
Sl ” e et 3 & watfiras Fuge SO
€3 . ‘ y | &
130 Which of the following condition§’are correct for (A) a_ [~<hd o
donating the blood by a male or fg%hle‘? (B) /el ?‘3
a. The weight of a person must I{e ﬁbove 45 kg. (C) fFa/H3 O
b. The person should not suffer frorp any serious /(DT e Pt
2 disease. | CRP | ' E) . — g
. c. Hemoglobin level in their grn"od must be '
between 8 to 12. s 3 o
d. The person has not donated b’i-o}od since last 132 Haemoglobin 1s present in —
two years . %‘] Choose the most appropriate @iswer from the
Choose the most appropriate ariswer from the options given below: S
options given below: :ﬁi (A) Both white and re P By dit._:;llls
(A) aand@ o!tlly (B) .ab ﬂﬂﬂ e (B)+ White blood cells.r . C)
(C) b,canddonly (D) candd only =
(C) Red blood cells
(E) Question not attempted |
Rt qew STl # F TW W IHFAE b faT (D) Platelets g
ﬁﬂ%ﬁg—d i @ @ feufoat wdve? (E) Question not attempted Q0
a. E'HEI'&‘FEETW‘B kgﬂ&ﬁﬁ-{?jﬂﬂﬁql mﬁqwm%. g
b, wﬁﬁ%ﬁmﬂfﬂ“ﬁ%ﬂm@mm'm e faarei 3 & WAt g v o
c. mmﬁmwmsﬂz%aﬁ - aﬁ%ﬁtmmﬁﬁ%ﬁﬁ
=rfay i
d. ﬂmﬁﬁﬁﬁﬂﬁaaﬁﬁwqﬁmﬁl | (B) AT Th BTN ol
Ay e o farepedl & @ Ao gugew s T _AC) T Th RIRTRN |
(A) Facta b _4BF Fawia,b3iNc (D) ey (eareE)
(C) FaADb, caﬂtd(ol %ad ¢ 3 d ()  swatE
(E) Iaia ¥4 .
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:1sthani player who has not play,

133 Select the correct 'statements from the following : | 135 Idfentify. the z{?ﬂ syt
4. Cancer is caused by uncontrolled cell division. Ccl‘lls::l:hl: ;mst Y.
 Hepatitis-A is caused by bacteria. | |
E. Hazmuphilia is a genetic disorder. options g"j"en be:wh .
d. Leprosy is a viral disease. (A) | Ai”ja"tj l_t' mgl o
Choose the most appropriate answer from the (B) Gagan K‘ShSa’; ah
options given below:+ * “ I‘Hanumﬂnt l fl rishchandra Sharma
(A) a,bandconly (B) aandconly (D) Parthasarathy ttam -
(C) bandconly (D) aanddonly (E) Quesg;t%:% ir{Fﬁ'Er e i
(E) Question not attempted qﬁm
Pyt i & we et 3 g S s
o S SR HRTHT TS 3 shTeeT e frfefaa atfers
b. FaereRa-A Shamupait 3 st 2 & (A) mﬂ?ﬁﬁﬁﬂjgr
c. ST U i f R () POV IRESRT
d. 8T (St T faremop =y O (C) wIHafEE |
A P faet 8- et g ST G (D) Tt gREreE T
_(AY” Facia, b3 c (B)  Fada3lc (E) ?ﬂﬁﬁﬂgﬂ |
(C) FaAb3Rc Fad a 3 d | _ |
(E) Iaia ¥ 136 Nutrionally egg is a rich source of:
- a. Proteins
134 is reddish brown, bean shaped b. Iron and phosphorus
structure present in lower abdominal cavity of C. Unsaturated fatty acids
human beings. d. . Carbohydrates
Choose the most appropriate answer from the e - Vitamin E |
options given below: " Choose the most apprjapriare a{lswer from the
(A) Thyroid gland options given below: .
(B) Kidney - (A) c,dandeonly (B) aanddonly
(C) Liver £ (C) bandeonly (D) a,bandconly
(D) Gall bladder (E)  Question not attempted
(E) Question not attempted tﬁwé‘rg@ﬁ m@maﬁq%
@W—?ﬁwﬁﬁwﬁlﬂ)%mﬁ a AT T
T & St T S 3 e 3 ey i & g b .. ohe SR
ety - C. - STHTH IW 31wt Al
Prefafaa fasedl § @ waitas I9gw a4 d.  wFTetEEe @
(A) 9EUEES R e ffm g
(C) 3% (=) P 0, d3ie ¢ R Sbret a
(D) framerg (it sete)) ( %ﬁﬁbaﬁ{e (D) ma’baﬂtc
(E) Iditay4 (B)  STafee wisy
DEF - B14 ] 6 28 [ Coﬂtd
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(37 Which of the following is not a protein present in @ A sum of T 23,450 is divided among A, B, C and

milk? Ll o
Choose the most appr opriate answer from the

options given below: .- .,

D such that they received the money in the ratio

ofA:B=2:3,B:C'=5:6andC:D=3:4.

How much money did D receive?

(A) Lactose (B). . Caselln | ' .

(C) Lactalbumin (D) Lactaglobulm 7 23.450 #1 TRT A, B, C T D & 39 Yo At

(E) Question not attempted | 11? £F 38 e yaafiE bt 3=Ff'5ﬂ?f A:B=2:3,

R ﬁﬁﬂ?-mwﬁwaﬁaﬁn@w B:C=5:67uTC:D =3:4 & Dl fohedr &7

T8 87 L A B1eLD

frefafae fasedl & § gaifaes I9g® It e avg & %

(A) @y = (A) T 8,150 (B) 8,500 g 0 4 E{
200 b3

(C) AFTH A (D) éaznrvhal%r-r N : Fsﬁ_/ 120 (D) %8, D

(E) K i (E) Questmn not attempted/aﬂﬂﬁ?f 710! | q

23450_~*
= h

138 \ The common test to check adulteration of ghee

ith animal fat 1s:
Choose the most appropriate answer from the

options given below:

m? |
(A) Nitric acid test R et N2
(B) Carbolic acid test "'"'ﬁ‘) _ l:::
(C) Baudouin test j"‘
(D) Halphenstest ns
(E). Question not attempted '
ﬁﬁﬁwﬁﬁwﬁmw%%&@
[Ty Gl 8 | |
Frefufad feedl § @ watfares 39gw ST S
(A) rgfoen TR TrE
(B) wIafcieh STrcT GIETT
(C) digeTaET
(D)~ A qTEoT
(B) IgARaNA
139 A goldsmith has gold of 14 carat purity and 18
carat purity. In what ratio should he mix the tWO
to make an ornament of 15 carat purity?
T FAR & T 14 ¥ J[EAT T 18 e J&a
TRl 15 Wmﬁmwﬁ%ﬁ%ﬂaﬁﬁ
fory e 3 T
(A 3:1 «(B) 5:2
(Cy 4:3 _(D) 5:4
(E) Question not ii;t.temPted / AR 5
S L T
15"
& g |1

>
h.
é

141 ‘Digilocker’ 1S a government cloud based‘:isﬁ’-"

st B
platform p;oV1ded application for: T
. Choose -the most appropriate answer from the%i “’;J
-.__—_._‘_—__/""

» options given below:

(A) Storing election related data in a digital
3 form
(B) 'Stonng cashin a dlgltal form
(C) Storing important documents in a digital
form
(D) Storing precious metals in a digital form
.(E) Question not attempted &

IHEH R |

frefafaa fasreal & @ AAITE® ITGH ST A

(A) T waht st W Rfvest w9 wuda
& ford

(B) Tt i fefSied ®9 7 dudia 1 & i’y

_ACY weeapt sEast @ ffed ®v ¥ g

A & ford
(D) et ungedt A fefores s drdle sy
fg '
(E) 7gaia v
“:2:' [ Contd
— 86— 258
A2 — 1329
3
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142 The upper limit of Joan amount proposed in the | 144 Who i§511e minister of technical educatiop, n
first phase(0f ‘Gopal Credit Card Scheme’ for Rajastlgil} (in September 2024)?
one year isg ChooseXthe most appropriate answer from g,
Choose thenJnost appraprlare answer from the GP“(’“%:FVEH below:
options gnsﬁ below: - (A) Smt. Diya Kumari
T mlm DT ¥ TUT T F e (B) Skjh Kirodi Lal
mtﬁﬁaqﬂtﬂmqmaﬁé;%&% (C) gh’ri Madan Dilawax:
g - Precdi ¥ X aath ERe—— T—-ﬁ (D) ]E)r. Prr:em Chand Bglma
| (E) Question not attempted
/f;; :;%TO T | uawﬁ,’“’ aetehY fmear Tt (et 2024 ) 3
/s
(C) T 75(0Q0 1t fr vfe 3, ﬁa»—ctﬁi:‘rﬁ N
(D) ?1,0:@00"‘ -0 R Eﬁilﬁﬁf&mmﬁ
(E) Questidn not attempiedr/ Sﬂ?lﬂﬂ E[%' | (B) W AT
© 4 ey situea feema
143 The first p&se of “Gopal Creciii:HCard Scheme” (D) . SR =1 ST
proposed fom 25" September 2024 to B“’ | (E) : '%ﬁfl’ﬁﬁﬂ
October 2% 1S to target reachmg hm:.r many N e
Gopalak fafitlies? _ 145 Accor{’i_@g to report by Forbes India published in
Choose thgpast apﬁrofrriate 'ailvaef ﬁ';::-m the Septe%r 2.0'24, In LS
options giver below: : in projected GSDP (FY 2024-25).
_Ii s ¥ 135 # e x e wee ) f;?:zgje :;;:J :ppmprmre answer from the
F . - _3 lag ! - A B (A) - ©ph (Eleventh) ... . h
F (C) , 5 lai\l . B) _{%‘(Third) !
{ e ?13&‘3 \n E oo (©)  s™(Fifth) —
(E)  Questjon not attempted (D) g(Sev enth)
.Tﬁma%@-ﬂé FISAT" ST TUH =07 Y 25 fyefa (E) . Question not attempted
| 2024%3313231:20243%9@@3% T Y fora W@aﬁﬁw S S L
Tﬁmamwf%rﬁqgﬂﬁ?ﬂ%? STIHTLHRA & Tt , roreer a6t s1witad (3
Prean Tt & i g 370 g ¥ e ot 2024.25 e 2
11 efaRen et & & warffaes sogw s @
(B) 3 H@ (A) ‘@Bﬁ
© s ®) Wy
(D) 9d@ ©) qﬁﬂl
(D) raar
(E) i gy B)  smeferss
DEF - B14 ] 3 ST 30 [ Contd-
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(46 According 1o’ modified’. ‘Budget 202425 of

Rajasthan, how much money, 1s. allocated under ' _
a . i . # l"
“Doctor Shyama Prasad Mukherjee Zila Uithan following physiographic regions of Rajasthan’

149 Chulia a water fall is located in which of the

Yojana™? | Choose the most appropriate answer-from the

Choose the most apprc}prtate answer fmm the

options given below:
~ options given below: !

(A) Aravali region

(A) 900cr - (B)''3000cr 1 SRRy

(C) 500 cr (D) 700 cr - (B) Western desert plain region

(E) Question not aﬁempteq . (C) Eastern plain region

SL I G ‘ﬁﬁﬁﬁ CE 2024 25 * AR (D) South-eastern plateau region

_“gT WFITE ‘:THHE B r@gw | E i_l i %aﬁﬁ:ﬁ , (E) ' Question not attempted

Freaferfiaa farevedt 3 & warifores Suge ST “ Hmmmwm%ﬁm%%ﬂﬁﬁ%ﬂ :
&) 00w @y eows, — | CHESAE R _

(C) S00%Ig (D) 700%US . | ﬁmﬁﬁaﬁmﬁﬁaaﬁmwmiﬁ:

(E) Idiayd 48 | | o (A) ST A

(B) qfatﬂqmﬁﬁzrﬂaméa

147 Where is the place of origin of Luni river of

Rajasthan? e R P ; (©) tljfﬂaﬁll &
Choose the most approprmte .answer, from the _AD) f&ror-geff wart &
options given below: | I ® SRR I

(A) Eastern Satpura range

(B) ' Amarkantak ‘ |
(C) - Nagg-Pahar S -8 150 W]:nch of the follomng types of forests are not

I

(D) Angsi Glacier .« found in Rajasthan?
(E) .. Question not attempted . .
Wﬁaﬁqﬁmmmw%‘?

¥

Choose the most appropriate answer from the

' options given below:
ﬁm%ﬁaaﬁwfrﬁwaffaa;mwgﬁ |
f(C')/ FIT‘T qglg (D) I %FFF{ " (B) Tropical thorn forest
(E) aﬂﬁﬁﬁ qd - (C) Tropical dry deciduous forest
148 Which one of the following hot winds blows In - (D). sub'tl'ﬂpi‘:ﬂi montane forest
Rajasthan? | | (E) 6uestidn not attempted-
" "Choose the most appropriate answer from the P i R YR 3 S O § 1 ‘IT&ET%
options given below: - = .
(A) Ssirocco . . ,(B) Khamsin. © |
(C) Loo - (D) Chinook | mﬁwe{ﬁmﬁmmaﬁ
(E) Questlﬂn not attempted /(k)" ST a9
ﬁq“m‘?ﬁ':‘;ﬁaﬁﬁ"ﬁ @) e frefafiad 3 9 (B) 3w FRR AT
%ﬁﬁﬁﬁmmm@: (C) Swrehfsiti Ik qoiaTelt a
(A) e B) @ T T —
Aer q D) foa (B) et s
(B) mef@sd
DEFI\_ '‘B14 3 31 [ Contd...
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